



Naam: _____

Datum: _____ Score: _____

$$(-10)^{(-2)} + 8 =$$

$$(-4)^{(-2)} + (-5) =$$

$$6 - 8 =$$

$$8^2 + (-1) =$$

$$7^{(-2)} - 9 =$$

$$(-5)^2 - 4 =$$

$$(-2)^2 + (-2) =$$

$$(-3)^0 + (-8) =$$

$$(-1)^{(-2)} - (-9) =$$

$$6^2 + 10 =$$

$$2^2 - 1 =$$

$$(-4)^{(-1)} + (-3) =$$

$$(-1)^0 + 9 =$$

$$9^{(-1)} + (-3) =$$

$$(-9)^{(-2)} - 7 =$$

$$7^{(-1)} - 4 =$$

$$1^{(-1)} - 10 =$$

$$(-7)^{(-2)} - 6 =$$

$$(-5)^2 - 8 =$$

$$(-1)^{(-1)} - (-6) =$$



Naam: _____

Datum: _____ Score: _____

$$(-10)^{(-2)} + 8 = \frac{801}{100} = 8\frac{1}{100}$$

$$(-4)^{(-2)} + (-5) = \left(-\frac{79}{16}\right) = \left(-4\frac{15}{16}\right)$$

$$6 - 8 = (-2)$$

$$8^2 + (-1) = 63$$

$$7^{(-2)} - 9 = \left(-\frac{440}{49}\right) = \left(-8\frac{48}{49}\right)$$

$$(-5)^2 - 4 = 21$$

$$(-2)^2 + (-2) = 2$$

$$(-3)^0 + (-8) = (-7)$$

$$(-1)^{(-2)} - (-9) = 10$$

$$6^2 + 10 = 46$$

$$2^2 - 1 = 3$$

$$(-4)^{(-1)} + (-3) = \left(-\frac{13}{4}\right) = \left(-3\frac{1}{4}\right)$$

$$(-1)^0 + 9 = 10$$

$$9^{(-1)} + (-3) = \left(-\frac{26}{9}\right) = \left(-2\frac{8}{9}\right)$$

$$(-9)^{(-2)} - 7 = \left(-\frac{566}{81}\right) = \left(-6\frac{80}{81}\right)$$

$$7^{(-1)} - 4 = \left(-\frac{27}{7}\right) = \left(-3\frac{6}{7}\right)$$

$$1^{(-1)} - 10 = (-9)$$

$$(-7)^{(-2)} - 6 = \left(-\frac{293}{49}\right) = \left(-5\frac{48}{49}\right)$$

$$(-5)^2 - 8 = 17$$

$$(-1)^{(-1)} - (-6) = 5$$